SHAEE B -EHE BEHEHEE0ME (ke)
Bt wH% it BHEaH| o5
- A= AERAE [TE A1) =53 (%)
[ EIEAFLY 67,300 0 0 0 67,300 36.35
IEA 43,202 0 0 0 43,202 23.33
3| hLTY 24,884 0 0 0 24,884 13.44
4| 1—JoEJTa/R 24,819 0 0 0 24,819 13.40
5| TFILRUEY 14,417 0 0 0 14,417 7.79
6] 1,2, 4—RJAFIRFY 3,743 0 0 0 3,743 2.02
N INRIL—A~"FHY 3,540 0 0 0 3,540 1.91
8| AL KRRUZDKEIEE 0 1,169 0 0 1,169 063
IAR)FAXLIFLU)=FILFNLI—TIIL(FILF 0 1,000 0 0 1,000 0.54
10| N, N=UAF LRI LTFIR 600 0 0 0 600 0.32
ZDHh 470 4 0 0 474 0.26
= 182,975 2,173 0 0 185,148
SH4EE St -1t BHEBELRI0NE (ke) _ —
BHE S = CHR-BHURO
[[[:Xa MEL = BEE4Es N =
TKE =X (%) A&
LRI —~FHY 0 310,000] 310,000 49.61
2| bLTY 0 225330] 225,330 36.06
3| DAFITIY 0 39,000 39,000 6.24
4| BIEAFLY 0 13,700 13,700 219
5[ o HaRVATSIY 0 7,900 7,900 1.26
6| 2% 0 7,300 7,300 1.17 A
1| 7o FEC RUZOEET 0 6.500] 6500 104 B
I IE% 0 5,830 5,830 0.93 £
I IFILRUEY 0 2,210 2,210 0.35 77.1%
10| IERD KA EY 0 1,400 1,400 0.22
ZDHh 8 5733 5741 0.92
&t 8 624,903 624,911




